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dx
1 [1]:14.59 /W

/ L L (az+0)

ax+b:a

()=
)spool schauml.output
)set message test on
)set message auto off
Jclear all

--S 1
aa:=integrate(1/(a*x+b) ,x)

--R log(a x + b)

--R Type: Union(Expression Integer,...)

--R Type: Expression Integer

--5 3 14:59 Schaums and Axiom agree
cc:=bb-aa

--R Type: Expression Integer



x dx
2 [1]:14.60 /W

x T b
/ o= In(az 4 b)

ar +b - a

(F)+=
)Jclear all

--S 4
aa:=integrate(x/(a*x+b) ,x)

--R Type: Union(Expression Integer,...)
--8 5

bb:=x/a-b/a"2*log(a*x+b)

--R - b log(a x +Db) +ax

--R Type: Expression Integer

--S 6 14:60 Schaums and Axiom agree
cc:=bb-aa

--R Type: Expression Integer



22 dx
3 [1]:14.61 /W

x? (ax +b)?  2b(ax +b) b
/ ar+b 23 a3 + a? In{az +b)

(*)+=

)Jclear all

--S 7
aa:=integrate(x~2/(a*xx+b) ,x)

--R 2 22

--R Type: Union(Expression Integer,...)
--S5 8
bb:=(a*x+b) "2/ (2*a~3) - (2*b* (a*x+b) ) /a”3+b~2/a"3x1log (a*xx+b)

--R 2 22 2
--R 2b log(a x +b) +ax -2abzx - 3b

--R Type: Expression Integer

--R Type: Expression Integer



This factor is constant with respect to = as shown by taking the derivative.
It is a constant of integration.

(F)+=
--S 10 14:61 Schaums and Axiom differ by a constant
differentiate(cc,x)

--R (4) ©
--R Type: Expression Integer

3
4 Q1462 [ d

ar + b
3 (az +b)>  3blaz +b)2  3b*(ax+b) b
- _ _2 b
/aa: +0b 3at 2a4 + at at n(az +0)

()=
)Jclear all

--S 11
aa:=integrate(x~3/(a*x+b) ,x)

--R 3 33 2 2 2
--R - 6b log(a x +b) +2ax -3abx +6abx

--R Type: Union(Expression Integer,...)

and the book expression is:

()+=
--S 12
bb:=(a*x+b) "3/ (3*a~4) - (3*b* (a*x+b) "2) / (2*¥a"4) +(3*b~2* (a*x+b) ) /a~4-(b"3/a"4) *1log (a*x+b)

--R 3 33 2 2 2 3
--R - 6b log(a x +b) +2ax -3abx +6abzx+ 1lb

--R Type: Expression Integer



The difference is a constant with respect to x:

(F)+=
--3 13
cc:=aa-bb

--R Type: Expression Integer

If we differentiate each expression we see that this is the integration constant.

()+=
--S 14 14:62 Schaums and Axiom differ by a constant
dd:=D(cc,x)

--R (4) ©
--R Type: Expression Integer



5 [1]:14.63 /x(;l:;b)

/" 1 1 1 T
-
z (ax+b) b ax+b

()=
)Jclear all

--5 15
aa:=integrate(1/(x*(a*x+b)),x)
--R - log(a x + b) + log(x)

--R Type: Union(Expression Integer,...)

--S 16
bb:=1/b*log(x/(a*x+b))

--R Type: Expression Integer

--S 17
cc:=aa-bb

--R ax+b

--R Type: Expression Integer



but we know that a
log(a) —log(b) = log(3)
We can express this fact as a rule:

{(*)+=
--S 18
logdiv:=rule(log(a)-log(b) == log(a/b))
--R
--R a
-=I (4) - log(b) + log(a) + %I == log(-) + %I
--R b
--R Type: RewriteRule(Integer,Integer,Expression Integer)

and use this rule to rewrite the logs into divisions:

{()+=
--S5 19 14:63 Schaums and Axiom agree
dd:=logdiv cc

--R Type: Expression Integer

so we can see the equivalence directly.

6 [1]:14.64 /;c?(j;m)

/ 1 1 +a ! ar +b
S S e P (oo
2?2 (ax +b) br b2 x

()=
)Jclear all

--5 20
aa:=integrate(1/(x"2x(a*x+b)) ,x)

--R a x log(a x + b) - ax log(x) -b

--R Type: Union(Expression Integer,...)

10



The original form given in the book expands to:

(*4=
--5 21
bb:=-1/(b*x)+a/b"2%1log ((a*x+b)/x)

--R Type: Expression Integer

--R Type: Expression Integer

We can define the following rule to expand log forms:
(") +=
--S 23
divlog:=rule(log(a/b) == log(a) - log(b))

--R a

R (4) 1log(-) == - log(b) + log(a)

--R b

--R Type: RewriteRule(Integer,Integer,Expression Integer)

and apply it to the difference

{(*)+=
--S 24 14:64 Schaums and Axiom agree
divlog cc

--R (&) 0
--R Type: Expression Integer

11



7 [1]:14.65 /M

/ 1 2ax —b  a® T
- + 8 (2
23 (ax +b) 2b212 b3 ar—+b

(4=
)Jclear all
--S 25
aa:=integrate(1/(x"3*(a*xx+b)) ,x)

--R 22 22 2
--R - 2a x log(a x + b) + 2a x log(x) + 2a bx - b

--R 32
--R 2b x
--R Type: Union(Expression Integer,...)

--S 26
bb:=(2*a*x-b)/(2*b~2*x"2)+a"2/b"3*log(x/ (a*x+b))

--R 22 b4 2

--R Type: Expression Integer

--R 2 2 2 X

--R Type: Expression Integer

--S 28
divlog:=rule(log(a/b) == log(a) - log(b))
--R

12



--R a

R (4) 1log(-) == - log(b) + log(a)

--R b

--R Type: RewriteRule(Integer,Integer,Expression Integer)

--3 29 14:65 Schaums and Axiom agree
dd:=divlog cc

--R Type: Expression Integer

13



8 [1]:14.66 /(daj

T -1
/(az+b)2 ~ a (ax +b)

(F)+=
)Jclear all

--S 30
aa:=integrate(1/(a*x+b)~2,x)

--R Type: Union(Expression Integer,...)

--S 31
bb:=-1/(a*(a*x+b))

--R Type: Fraction Polynomial Integer

--S 32 14:66 Schaums and Axiom agree
cc:=aa-bb

--R Type: Expression Integer

14



9 [1]:14.67 /w

/ x = b + 1 In(azx + b)
(axr +0)2 a2 (ax+b) a2

()=
)Jclear all

--S 33
aa:=integrate(x/ (a*x+b) "2,x)

--R (a x + b)log(a x + b) +b

--R Type: Union(Expression Integer,...)
--3 34

bb:=b/(a"2* (axx+b) ) +1/a"2*log(a*x+b)

--R (a x + b)log(a x + b) +b

--R Type: Expression Integer

--S 35 14:67 Schaums and Axiom agree
cc:=aa-bb

--R Type: Expression Integer

15



2?2 dx
10 [1]:14.68 /(me)2

/ v _artb v _® In(azx + b)
(ax +0)2 a3 ad (ax+b) a?

()+=

)Jclear all

--S 36
aa:=integrate(x~2/(a*x+b) "2,x)

--R 2 22 2
--R (-22abx-2b)loglax+b)+ax +abzx-b

--R Type: Union(Expression Integer,...)

and the book expression expands into

() +=
--S 37
bb:=(a*x+b)/a~3-b"2/(a"3*(a*x+b)) - ((2%b) /a~3) *Log(a*x+b)

--R 2 2 2
--R (-2abx-2b)loglax+b) +ax +2abx

--R Type: Expression Integer
These two expressions differ by the constant
(") +=

--S 38
cc:=aa-bb

--R Type: Expression Integer

16



That this expression is constant can be shown by differentiation:

()=
--3 39 14:68 Schaums and Axiom differ by a constant
D(cc,x)

--R (4) 0
--R Type: Expression Integer

17



3 dx
11 [1]:14.69 /(me)2

/ o=t _ 3blez +1) + i + % In(az + b)
(ax +0)2  2a% a* a*(ax+b) a*

()+=

)Jclear all

--S 40
aa:=integrate(x~3/(a*x+b)"2,x)

--R 2 3 33 2 2 2 3
--R (6a b x + 6b )loglax+b) +ax -3abx -4abzx+2b

--R 2a x + 2a b
--R Type: Union(Expression Integer,...)

--S 41
bb:=(a*x+b) "2/ (2*a~4) - (3*xb* (a*x+b) ) /a”4+b~3/ (a"4* (a*xx+b) ) +(3*b~2/a~4) *1log (a*x+b)

--R 2 3 33 2 2 2 3
--R (6a b x + 6b )loglax+b) +ax -3abx -9abzx-3b

--R Type: Expression Integer

--R Type: Expression Integer

--S 43 14:69 Schaums and Axiom differ by a constant
dd:=D(cc,x)

18



--R Type: Expression Integer

dx

/ﬂ ! = - 4—3¥ln o
z (ax+b)2  b(ax+b) b2 ar+b

(F)+=
)Jclear all

--S 44
aa:=integrate(1/ (x*(a*x+b) ~"2),x)

--R (- ax - Dblog(ax +b) + (ax+ b)log(x) +b

--R Type: Union(Expression Integer,...)

19



and the book says:

()=
--S 45
bb:=(1/(b* (a*x+b))+(1/b"2) *1log(x/ (a*x+b)))

--R ax+hb

--R Type: Expression Integer

--R ax+b

--R Type: Expression Integer

So we look at the divlog rule again:
(") +=
--S 47
divlog:=rule(log(a/b) == log(a) - log(b))

--R a

-k (4) 1log(-) == - log(b) + log(a)

--R b

--R Type: RewriteRule(Integer,Integer,Expression Integer)

we apply it:

{(*)+=
--S 48 14:70 Schaums and Axiom agree
dd:=divlog cc

--R (&) 0
--R Type: Expression Integer

20



dx
13 (11471 [ las 137

/ 1L a1 2 fartd
22 (ax +0)2 b2 (ax+b) b2z b3 x
()+=

)Jclear all

--S 49
aa:=integrate(1/(x"2* (a*x+b) "2) ,x)

--R 22 22 2
--R (2a x + 2a b x)log(a x + b) + (- 2ax - 2ab x)log(x) ~2abx-b

--R abx +bx
--R Type: Union(Expression Integer,...)

and the book says:

() +=
--S 50
bb:=(-a/ (b~ 2x(a*xx+b)))-(1/(b~2*x))+((2*a) /b~ 3) *log ((a*xx+b) /x)

--R 22 ax+b 2
--R (2a x + 2a b x)log(-——---- ) —2abzx-Db

--R Type: Expression Integer

--S 51
cc:=aa-bb

--R Type: Expression Integer

21



which calls for our divlog rule:

()+=
--3 52
divlog:=rule(log(a/b) == log(a) - log(b))

--R a

-k (4) 1log(-) == - log(b) + log(a)

--R b

--R Type: RewriteRule(Integer,Integer,Expression Integer)

which we use to transform the result:

WASS
--S 53 14:71 Schaums and Axiom agree
dd:=divlog cc

--R () 0
--R Type: Expression Integer

22



dx
14 [1]:14.72 /x3 las 137

23 (ax + b)? T 22 blz  bax+b) bt
()+=

)Jclear all

/ 1 (az +b)*  3a(az +b) atz 3a? ) (a:L‘ + b)

--S 54
aa:=integrate(1/(x"3*(axx+b)"2) ,x)

--R (D

--R 33 2 2 33 2 2 2 2
--R (-6ax -6abzx)loglax+b)+ (6ax + 6abx)log(x) + 6ab x

--R 4 3 52
--R 2a bx + 2bx
--R Type: Union(Expression Integer,...)

--S b5
bb:=-(a*x+b) "2/ (2*%b~4*x"2) + (3*a* (a*x+b) ) / (b~ 4*x)-(a"3*x) / (b~ 4* (a*x+b) ) -((3*a~2) /b~4) *1

--R 33 2 2 ax+b 33 2 2 2 3
--R (- 6a x - 6a b x )log(————-—- ) +3x +9abx +3abx-b

--R Type: Expression Integer

--R 2 2 2 ax+hb 2

--R Type: Expression Integer

23



--E

--S 57

divlog:=rule(log(a/b) == log(a) - log(b))

--R a

--R (4) 1log(-) == - log(b) + log(a)

--R b
--R Type:

--S 58
dd:=divlog cc

--S 59 14:72 Schaums and Axiom differ by a constant

ee:=D(dd,x)

24

RewriteRule (Integer,Integer,Expression Integer)

Type: Expression Integer

Type: Expression Integer



15 [1]:14.73 /(dx

S|
/ (ax +0)3  2a(ax + b)2

(F)+=
)Jclear all

--S 60
aa:=integrate(1/(a*x+b)~3,x)

--R 32 2 2
--R 2ax +4abx+2ab
--R Type: Union(Expression Integer,...)

--S 61

bb:=-1/(2*(a*x+b) "2)

--R 2ax +4abx+ 2b
--R Type: Fraction Polynomial Integer

--R Type: Expression Integer
--S 63

dd:=aa/bb

--R Type: Expression Integer

25



--E

--S 64 14:73 Schaums and Axiom differ by a constant

ee:=D(dd,x)

--R

--R (5) 0

--R Type: Expression Integer
--E

x dx
16 [1]:14.74 /(MH))3

x B -1 b
/ (ax +b)3  a2(ax +b) + 2a?(ax + b)?
()=

)Jclear all

--S 65
aa:=integrate(x/(a*xx+b) "3,x)

--R Type: Union(Expression Integer,...)
--S 66

bb:=-1/(a"2*(a*x+b) ) +b/ (2*a"~2* (a*x+b) "2)

--R 2ax +4abx+2ab

--R Type: Fraction Polynomial Integer

--S 67 14:74 Schaums and Axiom agree
cc:=aa-bb

--R Type: Expression Integer

26



2?2 dx

/ - = 2 - a + El In(ax +b)
(ax +0)3  a3(axr +b) 2a3(ax+b)2  a

()=
)Jclear all

--3 68
aa:=integrate(x~2/(a*x+b) "3,x)

--R 22 2 2
--R (2a x +4a b x + 2b )log(ax +b) + 4ab x + 3b

--R 52 4 3 2

--R 2ax +4abx+2ab
--R Type: Union(Expression Integer,...)

--S 69
bb:=(2xb) /(a~3* (a*x+b) ) - (b~2) / (2*a~3* (a*x+b) "2)+1/a"3*log(a*x+b)

--R 22 2 2
--R (2a x +4a b x + 2b )log(ax +b) + 4abx + 3b

--R 5 2 4 3 2
--R 2ax +4abx+2ab
--R Type: Expression Integer

--3 70 14:75 Schaums and Axiom agree
cc:=aa-bb

--R Type: Expression Integer

27



18 [1]:14.76 /(x?)dx

ax + b)3
x3 oz 3b2 b 3b | b
/ (ax+b)3  a®  a*(ax +b) + 20 (ax + )2 at n(az +)
()+=
)clear all
-3 71
aa:=integrate(x~3/(a*x+b)"3,x)
--R
--R (1)
--R 2 2 2 3 33 2 2 2 3

--R (- 6abx -12a b x - 6b )log(a x + b) + 2ax +4abzx -4abzx-5b

--R 6 2 5 4 2

--R 2ax +4abx+2ab

--R Type: Union(Expression Integer,...)
--E

--5 72

bb:=(x/a"3)-(3%b"2)/(a~4x (a*xx+b) ) +b~3/ (2%a"4* (a*x+b) “2) - (3xb) /a"4*log (a*x+b)
--R  (2)

--R 2 2 2 3 33 2 2 2 3
--R (-6abx -12abx - 6b )log(a x +b) +2ax +4abx -4abzx-5b
--R 6 2 5 4 2

--R 2ax +4abx+ 2ab
--R Type: Expression Integer

--S 73 14:76 Schaums and Axiom agree
cc:=aa-bb

--R Type: Expression Integer

28



dx

/ 1 _ 3 n 2az 1 e ln ar +0b
z(az +0)3  2b(ax +b)2  2b2(axz +b)2 b3 x
() +=

)Jclear all

--S 74
aa:=integrate(1/ (x*(a*x+b) "3) ,x)

--R (1)
--R 22 2 22 2
--R (-2ax -4abzx-2b)loglax+b)+ (2ax + 4ab x + 2b )log(x)

--R 2
--R 2a b x + 3b

--R 232 4 5

--R 2a bx +4abx+2b
--R Type: Union(Expression Integer,...)

--S 75

bb:=(a"2%x72)/(2*b~3* (a*x+b) “2) - (2*a*x) / (b~ 3* (axx+b) ) -(1/b"3) *Log((a*x+b) /x)
--R 22 2 ax+hb 22

--R (-2ax -4abx - 2b)log(-———-—-- ) - 3ax -4abx

--R 232 4 5
--R 2abx +4abx+ 2b
--R Type: Expression Integer

--R Type: Expression Integer

29



--E

--S 77

divlog:=rule(log(a/b) == log(a) - log(b))

--R a

--R (4) 1log(-) == - log(b) + log(a)

--R b
--R Type:

--5 78
dd:=divlog cc

--3 79 14:77 Schaums and Axiom differ by a constant

ee:=D(dd,x)

30

RewriteRule (Integer,Integer,Expression Integer)

Type: Expression Integer

Type: Expression Integer



dx

/ 1 B —a B 2a _L+37a In axr +b
x2(ax +0)3  2b2(ax +b)2  b(ax+b) bz bl x
() +=

)Jclear all

--S 80
aa:=integrate(1/(x"2*(a*xx+b)"3) ,x)

--R (1)
--R 33 2 2 2
--R (6a x + 12a b x + 6a b x)log(a x + b)

--R 33 2 2 2 2 2 2 3
--R (-6ax -12abx - 6abx)log(x) ~6abx -9abzx-2b

--R 243 52 6

--R 2abx +4abzx + 2bx
--R Type: Union(Expression Integer,...)

--S 81

bb:=-a/(2xb"2* (a*x+b) “2) - (2*a) / (b~ 3* (a*x+b) ) -1/ (b~ 3*x) +((3*a) /b~4) x*1log ((a*x+b) /x)
--R 33 2 2 2 ax+hb 2 2 2 3

--R (6a x + 12a b x + 6a b x)log(——--—--- ) —6abx -9abzx-2b

--R 243 5 2 6
--R 2abx +4abx + 2bx
--R Type: Expression Integer

--R Type: Expression Integer

31



--E

--S 83
divlog:=rule(log(a/b) == log(a) - log(b))

--R a
--R (4) 1log(-) == - log(b) + log(a)

--R b
--R Type: RewriteRule(Integer,Integer,Expression Integer)

--S 84 14:78 Schaums and Axiom agree
dd:=divlog cc

--R Type: Expression Integer

32



21 [1]:14.79 /xg( d

ax + b)3
1 _ 1 2a 9a? 6a>z 6a> ar +b
/ w3(ax +b)3  2bx2(ax +b)2 er%(ax +0)? +bi‘((m +b)? +b4(ax +b)2 b < x >
()+=

)clear all
--S 85
aa:=integrate(1/(x"3*(axx+b)"3) ,x)
--R
--R (1)
--R 4 4 3 3 222
--R (- 12a x - 24abx - 12a b x )log(a x + b)
__R +
--R 4 4 3 3 222 3 3 222 3 4
--R (12a x + 24a b x + 12a b x )log(x) + 12abx + 18abx +4abx - Db
--R /
--R 254 6 3 7 2
--R 2a bx +4abzx + 2bx
--R Type: Union(Expression Integer,...)
--E
--S 86
bb:=-1/(2%b*x"~ 2% (a*x+b) “2) _

+(2%a) / (b"2*xx* (a*x+b) "2) _

+(9%a"2)/ (b~ 3* (a*x+b) "2) _

+(6%a~3%*x) / (b~4* (a*x+b) "2) _

+(-6%a~2) /b 5*log((a*x+b)/x)
--R
-—-R  (2)
--R 4 4 3 3 222 ax+hb 3 3 222
--R (- 12ax -24abx - 12a b x )log(———---- ) +12abx + 18a b x
--R X
__R +
--R 3 4
--R 4a bx - b
--R /
--R 254 6 3 7 2
--R 2abx +4abx + 2bx
--R Type: Expression Integer
--E
--3 87

cc:=aa-bb

33



--R 2 2 2 ax+hb

--R Type: Expression Integer
--S 88

divlog:=rule(log(a/b) == log(a) - log(b))

--R a

--R  (4) 1log(-) == - log(b) + log(a)

--R b
--R Type: RewriteRule(Integer,Integer,Expression Integer)

--S 89 14:79 Schaums and Axiom agree
dd:=divlog cc

--R Type: Expression Integer

34



22 [1:14.80  [(az +b)" dx

n+1
/(ax +b)" = % provided n # —1
(F)+=

)clear all

--S 90

aa:=integrate((a*x+b) "n,x)

--R n log(a x + b)
--R (a x + ble

--R Type: Union(Expression Integer,..

--S 91
bb:=(a*x+b) " (n+1) /((n+1)*a)

)

--R Type: Expression Integer

--R n log(a x + b) n+1
--R (a x + b)Y%e - (ax + b)

--R Type: Expression Integer

35



This messy formula can be simplified using the explog rule:

() +=
--S 93
explog:=rule(%e” (n*log(x)) == x"n)
--R
--R n log(x) n
--R  (4) Ve == x
--R Type: RewriteRule(Integer,Integer,Expression Integer)
--E

--S 94
dd:=explog cc

--R Type: Expression Integer

--S 95 14:80 Schaums and Axiom agree
ee:=complexNormalize dd

--R Type: Expression Integer

36



23 [11:14.81  [a(az+b)" do

. (az+0b)"?  blax + b)"T! .
/m(am +b)" = ((n " 2))a2 - ((n " 1))a2 provided n # —1,—2
()+=

)clear all
--S 96
aa:=integrate (x* (a*x+b) "n,x)

--R 2 2 2 2 n log(a x + b)
--R ((a@an+aj)x +abnzx-b)le

--R 22 2 2
--R an + 3an+ 2a
--R Type: Union(Expression Integer,...)

--S 97
bb:=((a*x+b) ~(n+2) )/ ((n+2) *a~2) - (b* (a*x+b) " (n+1) ) / ((n+1)*a~2)

--R n+ 2 n+ 1
--R (n+1x+Db) + (-bn-2b)(ax+ b)

--R an + 3an+ 2a
--R Type: Expression Integer

--3 98
cc:=aa-bb

--R (3)
--R 2 2 2 2 n log(a x + b) n+ 2
--R ((@an+a)x +abnzx-D>b)%e + (-n - 1(ax + b)

--R n+1

--R (bn+ 2b)(a x + b)

--R /

--R 22 2 2

--R an + 3an+ 2a

--R Type: Expression Integer

--5 99
explog:=rule(%e” (n*log(x)) == x"n)
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--R n log(x) n

|

|
=e)
~
N
p—
==
)

1]

Il
™

--R Type: RewriteRule(Integer,Integer,Expression Integer)

--S 100
dd:=explog cc

--R  (5)
--R n+ 2 n+ 1

--R (-n -1 x+Db) + (bn+ 2b)(a x + b)

--R 2 2 2 2 n
--R ((an+a)x +abnx-b)(ax+b)

--R 22 2 2
--R an + 3an+ 2a
--R Type: Expression Integer

--5 101
ee:=complexNormalize dd

--R Type: Expression Integer
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24 [11:14.82  [2’(az +1b)" du

n_ (az +0)"*? 2b(az +b)" "  b*(az + b)" !
~ (n+3)dd (n+ 2)a3 (n+1)a®

/xz(ax +b) provided n # —1, -2, -3
()+=

)clear all

--S 102

aa:=integrate (x"2* (a*x+b) "n,x)

--R 32 3 3 3 2 2 2 2 2 3 n log(a x + b)
--R ((an +3n+2a)x +(abn +abn)x -2abn x + 2b )le

--R 33 32 3 3
--R an +6an + 1llan + 6a
--R Type: Union(Expression Integer,...)

--S 103
bb:=(a*x+b) " (n+3) / ((n+3) *a~3) - (2*xb* (a*x+b) ~(n+2) ) / ((n+2) *a~3) + (b~ 2* (a*x+b) " (n+1) ) / ((n+

--R 2)
--R 2 n+ 3 2 n+ 2
--R (n +3n+2)(ax+b) + (-2bn -8 n-6b)ax+Db)

--R 2 2 2 2 n+ 1
--R (bn +5bn+6b)(ax+b)

--R 33 32 3 3
--R an +6an + llan+ 6a
--R Type: Expression Integer

--S 104
cc:=aa-bb

--R  (3)
--R 32 3 3 3 2 2 2 2 2 3

--R ((an +3n+2a)x +(abn +abnx -22abnx+ 2b)

--R n log(a x + b)
--R he

--R 2 n+ 3 2 n+ 2
--R (-n -3n-2)(ax +b) + (2bn +8 n + 6b)(ax + b)
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--R 2 2 2 2 n
--R (-bn -5bn-6b)(ax+ b)

--R 33 32 3 3
--R an +6an + 1lan + 6a

--S 105

explog:=rule(%e” (n*log(x)) == x"n)
--R

--R n log(x) n

--R  (4) e ==

Type: Expression Integer

--R Type: RewriteRule(Integer,Integer,Expression Integer)

--E

--S 106
dd:=explog cc

--R (5)
--R 2 n+ 3
--R (-n -3n-2)(ax +Db)

--R 2 2 2 2 n
--R (-bn -5bn-6b)(ax+ b)

--R 32 3 3 3 2

--R ((an +3n+2a)x +(abn +abnx

--R 33 32 3 3
--R an +6an + llan + 6a

--S 107 14:82 Schaums and Axiom agree
ee:=complexNormalize dd
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2

n+ 2

+ (2bn +8 n + 6b)(ax + b)

2 3
- 2abnzx+ 2b)(ax+ b)

Type: Expression Integer

Type: Expression Integer
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25 [1:14.83  [a"(ax+1b)" du

m—+1 b)" b
2 (ax +b) o /xm(ax—kb)”*l
m+n+1 m+n-+1
2™ (az + b)" T mb
m )™ _ m—1 b
/x (az +b) m+ntla (m+n+1)a/$ (az +b)
—a™(az +b)" m4n+ 2 /xm(al‘ by
(n+1)b (n+1)b
{(*)+=
--S 108 14:83 Axiom cannot do this integration
aa:=integrate (x"m* (a*xx+b) "n,x)
--R
--R X
--R ++ m n
-—-I @ | % (b + %U a) diU
--R ++
--R Type: Union(Expression Integer,...
--E
) spool

)lisp (bye)
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